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T(x,,v,z,t) —T(x{,v,2,t
T.(0,y,2,t) = 0 = (x2,y ) (x1,y )=0

Ax
=T,y 2zt) =Ty, y,2,t) ... (5)
T(x,,v,zt)—T(x,_1,V,2t
T (@y,2,0) = 0= (X0, ¥, 2, t) Ax( n—1Y )=o
=T,y z,t) =TXp—1,V,2,t) ... (6)
T(x,0,z,t) =T, = 20
== T(x,yl,Z, t) = Tl =20 ... (7)
T(x,c,z,t) =T, =60
=T y,zt)=T,=60 ... (8)
T(x,y,z,,t) —T(x,y,21,t
T.(x,9,0,t) = 0 = (x,y,2, )AZ (x,¥,2 )=O
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=T, y,2z,t) =T, y,2,-1,t) ... (10)
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Consistency (Bwldl) o2ld).5

(h, At) = e aah 4 Jog S Ukl O1713] a5k alolid) dslal) o (Rhuline) Rablize 065 gadl B9l Wslas
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_/193 [Tllji+1 - ZTI}I-I% + Tllj-li 1]

_/1(1 93)[ i,jk+1 2Tifj,k + Tl] k- 1]

Ll 0 THE = T(X, Y, 2, € + AE) 8l bt albose 3500 oy

302 2025 sle —Cgall g o) daal) s L8 pall dlaa




[ 2gana daan J5ae (e # Bl g g Al g Aala) (59 cilia ) g o353 ] @

oT |, (80P0T (A0 0°T
+1 __ pl
Tjie =Tt At =@t 3 g T~ ~

A.h2

e bt At = == won

ﬂ"hzaT A2 h*3*T A3 h® 03T

TH e = Tiix -+ + +
a Ot 2a% 0t?  6a3 0t3

i,jk —

. omr .
e et ey = a™VAMT o6 W, - = aV?T of ey

2 4 3 6

Tig =Tl + A W2 VT + VAT + c VeT + — — —

i,jk —

bl 0SS T +1]k =T(x £ Ax,y,2z,t) I oLt 3 om L

oT (Ax)?9%T (Ax)303T (Ax)*o*T
Tinjue = Tijet Mgt o+ o + 0 m
Ax)3 05T  (Ax)®9°T
(Ax) +( x) N
5! 0dx5 6! 0x®

0T h20%T h393T h*0*T h°® 0°T h® 0°T

= T} =T! , + h— —t———t——+ —
Lk T TLk ox T 219x2 T 6 9x3 T 240x% T1209x°  7209x6 T

l 2627' h464T h® 9°T
= T+1]k+Tl—1,j,k = ZTllk +h 0x?2 12 6x4 360 0x°® oo

...... (16)
Ll 0,5 b
: ’ ’ ZBZT h*0*T  h® 0°T
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...... (19)
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=T.E = r A ! + 1 h4a4T+ ~ A ! + 1 h4a4T
E=ly At A ga t Iy — Ay + ) dy*
2 1 64
—_ — ) (— 4____
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307 2025 sle —Cgall g o) daal) s L8 pall dlaa



3sana dran Sl Guls % Bpa 3l sh g Alal) g Apalal) (3 g1 a1 53 alakiad

)| D

— 221 L1 A 64T
E=lz 5G4 ] dax*
A3 /1 A 66T
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T.E = - ‘- ‘- *
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a. At _a?. (At)? N a. At N 1 0°T a.At a” (At)?
h? 12h* 24h? 360" 0x®  h2 12h*
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+ + —~ + +—]
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a.At 0T a.At _0*T a.At 0T
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Aglize g8 els

Convergence el 9

(h, At) = <SS aall ) dog V' i (s U Jadl 13 o 3,80 08713 lize 0685 gl Gl Wslas
-:[24 - 16] of &1 (0,0)

bt @ = =0 @9
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-A(1 - 91)[Til+1,j,k - 2Til,j,k + Til—l,j,k]

—10, [Ti?h,k - ZTil,;'r,I% + ilj—ll,k]

—A(1 - 92)[Til,j+1,k - ZTifj,k + Til,j—l,k]

_AQB[Tif}:I%+1 - ZTil,;'r,I% + Til,;r,l%—ﬂ

AL = O[T} jesr = 2T g + Tt jer]
Tl i = o5 o wond sl Olg 0f b sk Rgbd LEd aa oY

i e s 1Ll bl 3Eledh@ipghBigghvk - g — ([ 1

El+1eghaiegh,8jeghyk _ Eleghaieghﬁjeghyk —

191 [El+1egha(i+1)eghﬁjeghyk _ 2El+1eghaieghﬁjeghyk
+ El+1egha(i—1)egh,8jeghyk]

_/1(1 _ 91)[Elegha(i+1)eghﬁjeghyk _ ZEleghaiegh,Bjeghyk
+ Ele9ha(i=1)gghBjgghvk]

_/192 [El+1eghaiegh,8(j+1)eghyk _ 2El+1eghaiegh,8jeghyk
+ El+1eghaieghﬁ(j—1)eghyk]

_/1(1 _ 92)[Eleghaieghﬁ(j+1)eghyk _ ZEleghaieghﬁjeghyk
+ Eleghaieghﬁ(j—l)eghyk]

_/193 [El+1eghaiegh,8jeghy(k+1) _ 2El+1eghaiegh,8jeghyk
+ El+1eghaieghﬁjeghy(k—1)]

_/1(1 _ 93)[Eleghaieghﬁjeghy(k+1) _ 2Eleghaieghﬁjeghyk
+ EleghaigghBjgghy(k=1)]

—i e fad L ghaiyghBjoghyk e aedll
E—1=20,(Ee9"® — 2F + Ee9"®) — (1 — 0,)(e9"* — 2 + e9h)
—10,(Ee9" — 2F + Ee9"F) — A(1 — 0,) (e9"F — 2 + e9"F)
—A05(Ee9"Y — 2F + Ee9™) — A(1 — 05) (eI — 2 + e9M7)
= E[1 — 210,(e9"* — 2 + e9"®) — 10, (e9"F — 2 + ¢9"F)
—A05(e9 — 2 4+ 9] = 1 + A(1 — 0,) (e9"* — 2 + e9h9)

+A(1 — 0,)(e9"F — 2 + e9MB) + A(1 — 65) (eI — 2 + e9M)
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= FE
1+ 21— 60)(eI* =24 eI + A(1 - 6,)(e9"F — 2+ e9"F) + A(1 — 05) (9" — 2 + 9)
B 1—26,(e9h* — 2 4+ e9h®) — 10,(e9"F — 2 + e9hB) — 105 (e9"Y — 2 + e9hY)

= EF
_1+2(1—-6,)(2cosha —2) + A(1 - 6;)(Zcoshp —2) + A(1 — 83)(2 cos hy — 2)

1—-160,(2cosha —2) —A6,(2coshf —2) — A85(2coshy — 2)

= EF
1+ 2(1 — 6,)(—4sin? hz_a) + 2(1 — 8,)(—4sin? %) + 2(1 — 03)(—4sin? %)
1 — A8,(—4sin? %) — A8, (—4sin? %) — AB5(—4sin? %)
1 —4A[(1 — 6,)sin? hz_a + (1 — 6,)sin? % + (1 — 83)sin? %]
= E =

ha ., h . > h
-5t 0,sin? 7'8 + 03sin? 7]/]

s DS sfoug Ul RS b E e B < 1t Ll by

1+ 4A[6;sin?

1—-42[(1 — 6,)sin® hz—a + (1 - 6,)sin? % + (1 — 65)sin? %]
= <1

1+ 4A[0,sin? % + 6,sin? % + 0,sin? %]

Aala¥l By ) a5

ha h h
= |1 — 4A[sin? -+ sin? ?ﬁ + sin? 7]/] <1

ha h h
=-1<1- 4/1[Sin27+ Sin27ﬁ+ sin® 7]/] <1

ha h h
= —2 < —4A[sin? -+ sin® 7[)) + sin? 7]/] <0

+(-4) 1 ha h h
(=g§ > /'l[sin27+ sin27ﬂ+ sin? 7]/] >0

1
=< —  (30)

2[sin? hz_a + sin? % + sin? TV]

1 { PRI .2
A< o L Bt 2l B dl) Bsj o 13)
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“bEaN b Je fad g =0, =03 = 1 g0

1
= <1

1+ 42[sin? h2 + sin? 2'8 + sin? hzy]

ha , hB , hy
= |1 + 4A[sin? 7+sm ?+sm 7] >1

ﬁ

+ sin? ]

—1 =1+ 4A[sin? % + sin? L

ha h h
= —2 > 4][sin®> — + sin? hp + sin? _y]
2 2 2
-1
=< —  (3D)

2[sin? hz_a + sin? % + sin? 7)/]

J.:z.iwx \.;LAJ

ﬁ

1+ 4A[sin? 22 + sin2 22 4 sin2 ) > 1 of
2 2

ha , hp , hy
= 4A[sin? 7+3m 7+Sln 7] >0=1=>0
Peter David Lax -5 wis s SopW olol ) e s o 8 adey (illan 350 24140 3y dl) 2 55 13)

Aglize Gyl 0555 (- 1926)
Oyl 1S ny 5>

. 1
—oEN b e et g =0, = 03 =2 o

1 — 2A[sin? hz_a' + sin 2[)) + sin? 2 L4
= v he hy <1 (32)
14 21[sin? o + sin? =~ + sin? =]
2 2 2
ha h h ha h h
= |1 — 2A[sin? -+ sin? ?ﬁ + sin? 7]/] < |1 + 2A[sin? -+ sin? Tﬂ + sin? 7)/]

gz eyt 0SS LAX SY T o 4l adey (il §as 09edS SIS a9 13)
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2 Algorithm
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0°T h?_ 04T
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t 127 9x4 127 0x
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93T B2 647% h? 94T Truncation Error
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127 dy y
At
a.At 9T _ el a. At
— 12 [h2 574 a'At[ 2 +aAt[T
aZST n hz] 64T h2 a4T
2 2 Slaz S,
+ a2 (A)? =] 12' 9z 71377
(a5,))) @)
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deslize deslize deslize
Consistency
o
4,z 4)laze 4laze
Convergence
. . 1 )\jE:wu‘kf\
Lalles 5 atue Lallas 5 2tue A g b iy b atns
Stability
donill elod| (>
55 55 55 i
Time step size
didl wlges sae
223 267 179
Number of steps
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close all
clear
cle
tol=0.0001; % tolerance.
% Set of Nodes & time steps.
Nx=52;
Ny=10;
Nz=-22;
Nt=200000;
% Dimensions of Solar Cell.
Lx-1.5;
Ly=0.05;
Lz-0.5;
% Step length.
dx=Lx/(Nx-2);
dy=Ly/(Ny);
dz=Lz/(Nz-2);
dt=55;
% Thermo-physical parameters.
kt=0.50;
rho=2719.0;
cp=871.0;
alfa=kt/(rho*cp);
dif_x=alfa*dt/(dx)"2;
dif_y=alfa*dt/(dy)"2;
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dif_z=alfa*dt/(dz)"2;
% Initial condition.
tor k=1:Nz+1
for j=1:Ny+1
for i=1:Nx+1
xnode= (2*1-3)/2*dx;
ynode= (2%-3)/2*dy;
znode= (2*k-3)/2*dz;
temp_new(i,j,k)=25.0 * xnode*ynode*znode;
temp_old(1,j,k)=25.0 * xnode*ynode*znode;
end
end
end
error(1:Nx,1:Ny,1:Nz)=10"6;
temp_new(1:Nx,1,1:Nz)= 20;
temp_new(1:Nx,Ny,1:Nz)=60;
forit=1:Nt
temp_old = temp_new;
for k=2:Nz-1
for j=2:Ny-1
for 1=2:Nx-1
temp_new(i,j,k)=dif_x*(temp_old(i+1,j,k)
+temp_old(i-1,j,k))+ dif_y*(temp_old(,j+1,k)...
+temp_old(1,j-1,k))+dif_z*(temp_old(,j,k+1)...
+temp_old(@,j,k-1))...
~temp_old(1,j, k)*(2*dif_x+2*dif_y+2*dif_z-1);
end
end
end
% The Boundary Conditions.
temp_new(1,2:Ny-1,1:Nz)=temp_new(2,2:Ny-1,1:Nz);
temp_new(Nx,2:Ny-1,1:Nz)=temp_new(Nx-1,2:Ny-1,1:Nz);
temp_new(1:Nx,2:Ny-1,1)=temp_new(1:Nx,2:Ny-1,2);
temp_new(1:Nx,2:Ny-1,Nz)=temp_new(1:Nx,2:Ny-1,Nz-1);
% accepted error
error = abs(temp_new - temp_old);
ER - max(error);
ER;
it ER <=tol
ER;
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it;
break
end
end
% Specify your coordinates
% Choose a proper step-size, but do NOT try to make it very small
% The following [xl, yl, zl] vectors should be identical to the solar model,and should have the same
number of points in each dimension.
yl = linspace(dx/2,1.5-dx/2,50);
x1 = linspace(0,0.05,10);
zl = linspace(dz/2,0.5-dz/2,20);
[X,Y,Z] = meshgrid(xl,yl,zl);
xd = X(:,:,1);
yd =Y (1)
% This 1s your 3-layer Temperature matrix
% just callback your matrix here;
T = temp_new(2:51,1:10,2:21);
for1 =1:length(zl)

zd = Z(:,:,1);
cd = T(:,:,1);
hold on

scatter3(yd(:),zd(:),xd(:),100,cd(:),"filled");
Yoscatter3(yd(:),zd(:),xd(:),500,cd(:),".");
hold oft

end

grid on

colormap(Jet(15))

colorbar

% specity your view point angle
view(28,45)

xlabel("X-axis")

ylabel('Z-axis")

zlabel("Y -axis")

Ll Gy Al &y s>
close all
clear
cle
tol= 0.0001; % tolerance
% Set of Nodes & time steps.
Nx=52;
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Ny=10;
Nz=22;
Nt=200000;
% Dimensions of Solar Cell.
Lx-1.5;
Ly=0.05;
Lz-0.5;
% Step length.
dx=Lx/(Nx-2);
dy-Ly/(Ny);
dz-Lz/(Nz-2);
dt=55;
% Thermo-physical parameters.
kt=0.50;
rho=2719.0;
cp=871.0;
alfa=kt/(rho*cp);
dif_x=alfa*dt/(dx)"2;
dif_y=alfa*dt/(dy)"2;
dif_ z=alta*dt/(dz)"2;
% Initial condition.
for k=1:Nz+1
for j=1:Ny+1
for 1=1:Nx+1
xnode= (2*1-3)/2*dx;
ynode= (2%-3)/2*dy;
znode= (2*k-3)/2*dz;
temp_new(i,j,k)=25.0 * xnode*ynode*znode;
temp_old(1,j,k)=25.0 * xnode*ynode*znode;
end
end
end
error(1:Nx,1:Ny,1:Nz)=10"6;
temp_new(1:Nx,1,1:Nz)= 20;
temp_new(1:Nx,Ny,1:Nz)=60;
forit=1:Nt
temp_old = temp_new;
for k=2:Nz-1
for j=2:Ny-1
for 1=2:Nx-1
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temp_new(i,j,k)=(temp_old(,j,k)...

+dif_x*(temp_new(i+1,j,k)+temp_new(i-1,j,k)). ..

+dif_y*(temp_new(i,j+1,k)+temp_new(i,j-1,k)). ..

+dif_z*(temp_new(i,j,k+1)...

+temp_new(i,j,k-1)))/(1+2%(dif_x+dif_y+dif_z));

end
end

end

% The Boundary Conditions.

temp_new(1,2:Ny-1,1:Nz)=temp_new(2,2:Ny-1,1:Nz);

temp_new(Nx,2:Ny-1,1:Nz)=temp_new(Nx-1,2:Ny-1,1:Nz);

temp_new(1:Nx,2:Ny-1,1)=temp_new(1:Nx,2:Ny-1,2);

temp_new(1:Nx,2:Ny-1,Nz)=temp_new(1:Nx,2:Ny-1,Nz-1);

% accepted error

error = abs(temp_new - temp_old);

ER = max(error);

ER;

it ER <=tol

ER;

it;

break
end

end

% Specity your coordinates

% Choose a proper step-size, but do NOT try to make it very small

% The tollowing [x1, yl, zI] vectors should be identical to the solar model,and should have the same
number of points in each dimension.

yl = linspace(dx/2,1.5-dx/2,50);

x1 = linspace(0,0.05,10);

zl = linspace(dz/2,0.5-dz/2,20);

[X,Y,Z] = meshgrid(xl,yl,zl);

xd = X(:,:,1);

yd = Y(:,:,1);

% This 1s your 3-layer Temperature matrix

% just callback your matrix here;

T = temp_new(2:51,1:10,2:21);

for i =1:length(zl)

zd = Z(:,:,1);
cd = T(:,:,1);
hold on
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scatter3(yd(:),zd(:),xd(:),100,cd(:),"filled");
% scatter3(yd(:),zd(:),xd(:),500,cd(:),".");
hold oft

end

grid on

colormap(Jet(15))

colorbar

% specify your view point angle
view(28,45)

xlabel("X-axis")

ylabel('Z-axis")

zlabel("Y -axis')

Oyl il S eyl
close all
clear
cle
tol=0.0001; % tolerance
% Set of Nodes & time steps.
Nx=52;
Ny=10;
Nz=-22;
Nt=200000;
% Dimensions of Solar Cell.
Lx-1.5;
Ly=0.05;
Lz-0.5;
% Step length.
dx=Lx/(Nx-2);
dy=Ly/(Ny);
dz=Lz/(Nz-2);
dt=55;
% Thermo-physical parameters.
kt=0.50;
rho=2719.0;
cp=871.0;
alfa=kt/(rho*cp);
dif_x=alfa*dt/(dx)"2;
dif_y=alfa*dt/(dy)"2;
dif_ z=alfa*dt/(dz)"2;

% Initial condition.
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for k=1:Nz+1
for j=1:Ny+1
for i=1:Nx+1
xnode= (2*1-3)/2*dx;
ynode= (2%-3)/2*dy;
znode= (2*k-3)/2*dz;
temp_new(i,j,k)=25.0 * xnode*ynode*znode;
temp_old(i,j,k)=25.0 * xnode*ynode*znode;
end
end
end
error(1:Nx,1:Ny, 1:Nz)=10"6;
temp_new(1:Nx,1 ,1:Nz)= 20.0;
temp_new(1:Nx,Ny,1:Nz)=60;
forit=1:Nt
temp_old = temp_new;
for k=2:Nz-1
for j=2:Ny-1
for 1=2:Nx-1
temp_new(i,j,k)=(dif_x/(2+2*dif_x+2*dif_y+2*dif_z)). ..
*(temp_new(i+1,j,k)+temp_new(i-1,,k))...
+(dif_y/(2+2*dif_x+2*dif_y+2*dif_z))*(temp_new(i,j+1,k). ..
+temp_new(i,j-1,k))...
+(dif_z/(2+2*dit_x+2*dif_y+2*dif_z))*(temp_new(1,j, k+1). ..
+temp_new(1,j,k-1))...
+(dif_x/(2+2*dif_x+2*dif_y+2*dif_z))*(temp_old(i+1,j,k). ..
+temp_old@-1,j,k))...
+(dif_y/(2+2*dif_x+2*dif_y+2*dif_z))*(temp_old(,j+1,k). ..
+temp_old(,j-1,k))...
+(dif_z/(2+2*dif_x+2*dif_y+2*dif_z))*(temp_old(i,j,k+1). ..
+temp_old@,j,k-1))...
+((1-dif_x-dif_y-dif_z)/(1+dif_x+dif_y+dif_z)). ..
*temp_old(i,j,k);
end
end
end
% The Boundary Conditions.
temp_new(1,2:Ny-1,1:Nz)=temp_new(2,2:Ny-1,1:Nz);
temp_new(Nx,2:Ny-1,1:Nz)=temp_new(Nx-1,2:Ny-1,1:Nz);
temp_new(1:Nx,2:Ny-1,1)=temp_new(1:Nx,2:Ny-1,2);
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temp_new(1:Nx,2:Ny-1,Nz)=temp_new(1:Nx,2:Ny-1,Nz-1);
% accepted error
error = abs(temp_new - temp_old);
ER - max(error);
ER;
it ER <=tol
ER;
it;
break
end
end
% Specify your coordinates
% Choose a proper step-size, but do NOT try to make it very small
% The following [xl, yl, zl] vectors should be identical to the solar model, and should have the same
number of points in each dimension.
yl = linspace(dx/2,1.5-dx/2,50);
x1 = linspace(0,0.05,10);
zl = linspace(dz/2,0.5-dz/2,20);
[X,Y,Z] = meshgrid(xl,yl,zl);
xd = X(:,:,1);
yd = Y(,:;,1);
% This 1s your 3-layer Temperature matrix
% just callback your matrix here;
T = temp_new(2:51,1:10,2:21);
for 1 =1:length(zl)

zd = Z(:,:,1);
cd = T(:,:,1);
hold on

scatter3(yd(:),zd(:),xd(:),100,cd(:),"filled");
% scatter3(yd(:),zd(:),xd(:),500,cd(:),".");
hold off

end

grid on

colormap(Jet(15))

colorbar

% specity your view point angle
view(28,45)

xlabel("X-axis")

ylabel('Z-axis")

zlabel('Y -axis")
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(1) bt 31 iy
close all
clear
cle
syms 1 mn
Alfa =2 1113E-7; t =20 ;
T1-=20;
T2-60;
a=1.5;
b=0.5;
c=0.05;
Nx=50;
Ny=10;
Nz-20;
dx=a/(Nx);
dy=c/(Ny);
dz=b/(Nz);
[=0;]=0;K=0;
for k=1:(Nz+1)
for j=1:(Ny+1)
for 1=1:(Nx+1)
xnode=(i-1)*dx;
ynode=(j-1)*dy;
znode=(k-1)*dz;
forl=1:7
form=1:7
forn=1:7
Txyzt(1,j,k)=(sum(sum(sum((30/(n"2*m*1"2*pi*5))...
*exp(-Alfa*p1"2*t*(n"2/a"2+m"2/c 2+1"2/b"2)). ..
*cos(n*pr*xnode/a)*sin(m*pi*ynode/c)*cos(I*pi*znode/b)))).
+((T2-T1)/c)*ynode)+T1);
end
end
end
end
end
end
T=-Txyzt;
format long

% Specity your coordinates
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% Choose a proper step-size, but do NOT try to make it very small

% The following [xl, yl, zl] vectors should be identical to the solar model,and should have the same
number of points in each dimension.

yl = linspace(0,1.5,51);

xl = linspace(0,0.05,11);

zl = linspace(0,0.5,21);

[X,Y,Z] = meshgrid(xl,yl,zl);

xd = X(:,:,1);

yd =Y(,:;,1);

% This is your 3-layer Temperature matrix

% just callback your matrix here;

for i =1:length(zl)

zd = Z(:,:,1);
cd = T(:,:,1);
hold on

scatter3(yd(:),zd(:),xd(:),100,cd(:),"filled");
% scatter3(yd(:),zd(:),xd(:),500,cd(:),".");
hold oft

end

grid on

colormap(Jet(15))

colorbar

% specify your view point angle
view(28,45)

xlabel("X-axis")

ylabel('Z-axis")

zlabel('Y -axis")

(2) bt J31 Byl g
close all
clear
cle
syms 1 mn
Alfa =2 1113E-7; t =20 ;
T1-20;
T2-60;
a=1.5;
b=0.5;
c=0.05;
[=0;]=0;K=0;
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forK - K +1;
for] =] +1;
forI =1 +1;
xnode=0.015;
ynode=0.04444;
znode=0.4875;
Txyzt(l,],K)=double(symsum(symsum(symsum((30/(n"2*m*1" 2*pi"5))*exp(-
Alfa*p1"2*t*(n2/a"2+m"2/c"2+172/bM2)). ..
*cos(n*pr*xnode/a)*sin(m*pi*ynode/c)*cos(I*pi*znode/b). ..
,1,22),1,22),1,22)+(((T2-T1)/c)*ynode)+T1);
T-Txyzt(1,],K)
end
end

end
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